
CONTINUITY DIFFERENTIABILITY-MODULE 5
RECAP



APPLY LOG.ONBOTH SIDES

𝒔𝒊𝒏𝒚 𝒙(𝒔𝒊𝒏𝒙)𝒚 =

Y =𝟐𝒔𝒊𝒏𝒙

Y = 𝑥𝑙𝑜𝑔𝑥

Y = (𝑥− 5)(𝑥+ 8)

xy = 𝑒𝑥−𝑦

𝑦= (𝑥− 2)3(2𝑥 − 9)4

Use  
log.rules  
and answer  
quickly



Where we w i l l a p p l y l o g . d i f f e r e n t i a t i o n



Q.1



Q
RULE: log(ABC) = log A + log B + log C

Q.2



Q.3



Q.4



Q.5



Q.

Don’t take log  
on both sides,  

because  
log(m+n)

≠ log m + logn



Q.7



Q.8



HOME WORK

EX5.5

2, 8,11,12,14

THANK YOU…….will  
con t i nue t o m o r r o w


